
Dslot43  Spare and Option parts DS_003

Main Chassis

Front Shaft Holder

Front Shaft

Front Tire

Front Tire

Motor Code (red) Motor Code (black)

Motor Connecter

Guide

Brush

Front Wheel

Front Wheel

Front Body Mount

Magnet

Magnet Spring

Motor Case
( Upper )

Motor Case
( Bottom )

Motor Bed

Motor

Ball Holder

Ball

Motor Gear

Rear Shaft Unit

Rear Bush

Rear Bush

Rear Wheel

Rear Wheel

Rear Tire

Rear Tire

Rear Tower Bar

Spring

Screw ( M2x6 )

Screw ( M2x6 )

Screw ( M2x6 ) 

Screw ( F/H M2x8 )

Screw ( F/H M1.7x4 )

Screw ( M2x6 ) 

Screw ( M2x6 )

Screw ( M2x6 )

Magnet Holder

Screw set

Tire set

Shaft

Chassis set

Motor case set

Motor 

Spring set

1) Tire set A (13/9-50)
2) Tire set B (14/10-60)
3) Tire set C (14/11-55)
4) Tire set D (15/10-80)
5) Tire set E (15/11-70)
6) Tire set F (16/10-80)
7) Tire set G (16/11-80)

Tire set 1) Tire set A (13/9-50)
2) Tire set B (14/10-60)
3) Tire set C (14/11-55)

1) Gear set (0820)
2) Gear set (0919)1) Normal ver.

2) X-SPEED 3) Gear set (1018)

4) Tire set D (15/10-80)
5) Tire set E (15/11-70)
6) Tire set F (16/10-80)
7) Tire set G (16/11-80)

1) PORSCHE 917K 
2) PORSCHE 911 GT3
3) Audi R8
4) Lamborghini Murcielago LP640
5) MAZDA 787B
6) PORSCHE 962 C LH No.1
7) PORSCHE 962 C LH No.10

1) Chassis set (SS)
2) Chassis set (S)
3) Chassis set (M)

1) Soft (yellow)
2) Hard (blue)
3) Super hard

4) Chassis set (L)

Gear set

Bearing

Wheel set

1) PORSCHE 917K No.3 Sebring
2) PORSCHE 917K 1970LM Winner 
3) PORSCHE 911 GT3 silver
4) PORSCHE 911 GT3 white
5) Audi R8 2006 silver
6) Audi R8 2006 white
7) Lamborghini Murcielago LP640 p.yellow
8) Lamborghini Murcielago LP640 p.green
9) MAZDA 787B No.55 91 LM
10) MAZDA 787 No.56 91 LM
11) PORSCHE 962 C LH No.1
12) PORSCHE 962 C LH No.10

Included in Painted bodyset

Painted comp body set

Magnet set

Ball (4.7)

Guide set

1 2
3

4 6

10
11

12

8

9 7

13

14

6

5


